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I can identify and use higher and lower numbers 
Look at each pair of numbers. Decide which number is higher, and 

which number is lower. Then, put them both into a subtraction chimney 
sum. Here is an example: 

 

    46 

        -   34 
      12 
 

 
 

34 
   46 

This number is lower, 
so it will go on the 
bottom of our chimney 
sum. 

This number is higher, 
so it will go on the top 
of our chimney sum. 

762 
   331 

345 
      42 

110 
  579 

229 
  105 

855 
  243 

56 
   99 

3 
  647 

888 
  888 


